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6.

Answer any FIVE Questions
All Questions carry equal marks
* % x * Kk

A vertical hexagonal prism of 25 mm side of base and axis 60 mm has one of
its rectangular faces parallel to VP. A circular hole of 40 mm diameter is drilled
through the prism such that the axis of the hole bisects the axis of
right angle and is perpendicular to VP. Draw the development of
of the prism showing the true shape of the hole in it.

Draw an ellipse by Oblong method. The major and migoy/axesigiveft as 150 mm
and 90mm respectively. Draw normal and tangent at'%an i the ellipse at a
distance of 55mm from the geometrical center o elli [16]

A pentagonal lamina of 40 mm side lies on t e corner, which is nearest
at corner is making 45° with
, 0 mm above the ground plane and
istafice of 70 mm to the left of the corner

view of lamina. [16]

PP. The station point is 40 mm_ja#f
lies in a central plane, whic t a
nearest to the PP. Draw, perspecti

Three lines OA,
making 120 d

re respectively 25 mm, 45 mm 65 mm long, each
h the other two and the shortest line being vertical.

The figu w of the three rods OA, OB and OC whose ends A, B
and C t ound, while O is 100 mm above it. Draw the front view and
determingthe length of each rod and its inclination with the ground. [16]

Draw the elevation, plan and side view of the picture shown in the figure3. All the
dimensions in the figure are in mm. [16]

Figure 3

A paperweight consists of a frustum of a square pyramid, side of base 70 mm at
the bottom, 40 mm at the top and 20 mm height. It is surmounted by a cylinder
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of 30 mm diameter with spherical knob of 40 mm diameter at the top such that
the center of the sphere is at a height of 25 mm from the top of the frustum. Draw
the isometric projection of the assembly. [16]

7. Construct a diagonal scale to read kilometers, hectameters and decameters and
long enough to measure up to 6 kilometers, When a line of length 1cm on the map
represents a distance of 0.5 kilometers. Calculate the R.F and indicate a distance
of 2.45 kilometers on the scale. [16]

8. A cone of base diameter 60 mm and altitude 75mm lies on the HP on one of its

generators. The plan of the axis is inclined at 45° to the VP. Draw its projections.
[16]
* K * Kk x @
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. A paperweight consists of a frustum of a square pyramid, si

Answer any FIVE Questions
All Questions carry equal marks
* % x * Kk

A cone of base diameter 60 mm and altitude 75mm lies on the HP on one of its
generators. The plan of the axis is inclined at 45° to the VP. Draw its projections.

[16]

70 at

of ha
the bottom, 40 mm at the top and 20 mm height. It is sugiho d by¥a cylinder

of 30 mm diameter with spherical knob of 40 mm dj ter at op such that
the center of the sphere is at a height of 25 mm from the %0p he frustum. Draw
the isometric projection of the assembly. [16]
. A pentagonal lamina of 40 mm side liesgn th . The corner, which is nearest

to PP, is 15 mm behind it and an_ e
PP. The station point is 40 m
lies in a central plane, whi

gontaining that corner is making 45° with

its rectanguda®) faged” pa
throug e mysuch that the axis of the hole bisects the axis of the prism at
right an d 1§yperpendicular to VP. Draw the development of the lateral surface
of the priSin showing the true shape of the hole in it. [16]

Three lines OA, OB and OC are respectively 25 mm, 45 mm 65 mm long, each
making 120 degrees angles with the other two and the shortest line being vertical.
The figure is the top view of the three rods OA, OB and OC whose ends A, B
and C are on the ground, while O is 100 mm above it. Draw the front view and
determine the length of each rod and its inclination with the ground. [16]

Construct a diagonal scale to read kilometers, hectameters and decameters and
long enough to measure up to 6 kilometers, When a line of length 1cm on the map
represents a distance of 0.5 kilometers. Calculate the R.F and indicate a distance
of 2.45 kilometers on the scale. [16]

Draw an ellipse by Oblong method. The major and minor axes given as 150 mm
and 90mm respectively. Draw normal and tangent at any point on the ellipse at a
distance of 55mm from the geometrical center of the ellipse. [16]

Draw the elevation, plan and side view of the picture shown in the figure3. All the
dimensions in the figure are in mm. [16]
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6.

Answer any FIVE Questions
All Questions carry equal marks
* % x * Kk

A vertical hexagonal prism of 25 mm side of base and axis 60 mm has one of
its rectangular faces parallel to VP. A circular hole of 40 mm diameter
through the prism such that the axis of the hole bisects the axis of @ rism at
right angle and is perpendicular to VP. Draw the development of lateralSurface

of the prism showing the true shape of the hole in it. [16]

Construct a diagonal scale to read kilometers, hect an ameters and

long enough to measure up to 6 kilometers, When a li le lem on the map
n

represents a distance of 0.5 kilometers. Calculat d indicate a distance

of 2.45 kilometers on the scale. [16]
ude 75mm lies on the HP on one of its

Ii edhat 45° to the VP. Draw its projections.

A cone of base diameter 60 mm
generators. The plan of the 3& A
Three lines OA, are tespectively 25 mm, 45 mm 65 mm long, each

[16]
making 120 degy gles wigh the other two and the shortest line being vertical.

The figure J ew of the three rods OA, OB and OC whose ends A, B
and C on the ground, while O is 100 mm above it. Draw the front view and
determi e lemgth of each rod and its inclination with the ground. [16]

Draw the alevation, plan and side view of the picture shown in the figure3. All the
dimensions in the figure are in mm. [16]

Figure 3

A paperweight consists of a frustum of a square pyramid, side of base 70 mm at
the bottom, 40 mm at the top and 20 mm height. It is surmounted by a cylinder
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of 30 mm diameter with spherical knob of 40 mm diameter at the top such that
the center of the sphere is at a height of 25 mm from the top of the frustum. Draw
the isometric projection of the assembly. [16]

7. A pentagonal lamina of 40 mm side lies on the ground. The corner, which is nearest
to PP, is 15 mm behind it and an edge containing that corner is making 45° with
PP. The station point is 40 mm in front of PP, 50 mm above the ground plane and
lies in a central plane, which is at a distance of 70 mm to the left of the corner
nearest to the PP. Draw the perspective view of lamina. [16]

8. Draw an ellipse by Oblong method. The major and minor axes given as 150 mm
and 90mm respectively. Draw normal and tangent at any point on t se at a

distance of 55mm from the geometrical center of the ellipse.
* * K K x &
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1.

. A cone of base diameter 60 mm and altitude 75mm di th on one of its
generators. The plan of the axis is inclined at 45% to t : its projections.
u

Answer any FIVE Questions
All Questions carry equal marks
* % x * Kk

A pentagonal lamina of 40 mm side lies on the ground. The corner, which is nearest
to PP, is 15 mm behind it and an edge containing that corner is making 45° with
PP. The station point is 40 mm in front of PP, 50 mm above the gro w ane and
lies in a central plane, which is at a distance of 70 mm to the déft ¢ orner
nearest to the PP. Draw the perspective view of lamina.

[16]

Draw the elevation, plan and side vie th shown in the figure3. All the
dimensions in the figure are in Hy [16]

@

Figure 3

Three lines OA, OB and OC are respectively 25 mm, 45 mm 65 mm long, each
making 120 degrees angles with the other two and the shortest line being vertical.
The figure is the top view of the three rods OA, OB and OC whose ends A, B
and C are on the ground, while O is 100 mm above it. Draw the front view and
determine the length of each rod and its inclination with the ground. [16]

. A paperweight consists of a frustum of a square pyramid, side of base 70 mm at

the bottom, 40 mm at the top and 20 mm height. It is surmounted by a cylinder
of 30 mm diameter with spherical knob of 40 mm diameter at the top such that
the center of the sphere is at a height of 25 mm from the top of the frustum. Draw
the isometric projection of the assembly. [16]
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Draw an ellipse by Oblong method. The major and minor axes given as 150 mm
and 90mm respectively. Draw normal and tangent at any point on the ellipse at a
distance of 55mm from the geometrical center of the ellipse. [16]

Construct a diagonal scale to read kilometers, hectameters and decameters and
long enough to measure up to 6 kilometers, When a line of length 1cm on the map
represents a distance of 0.5 kilometers. Calculate the R.F and indicate a distance
of 2.45 kilometers on the scale. [16]

. A vertical hexagonal prism of 25 mm side of base and axis 60 mm has one of

its rectangular faces parallel to VP. A circular hole of 40 mm diameter_is drilled
through the prism such that the axis of the hole bisects the axis o
right angle and is perpendicular to VP. Draw the development of 13

of the prism showing the true shape of the hole in it.
* kK K K &
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